BL07E£ESFFRIFREFEREARS

ASHRRESE

£fi7& 7 B 20 A (B) BT EILAERIEE
(E1xa) AR SE46H~101570 285/119
=R 12| 3| 4|56 7|8 9|10]11]12] %
keg#®E L o 1 [ o 0| 1 0 2
I BB 25— oo 1] 8]0 1] x 10
£ I B & F5 5T B TEO—L R4 — L
B FREESEERLHE
e =
. IMIN: N =
#®I I BB 88—
¥ FHEMEH
#OokR = &N
Z: S = R FBE KR, BH
[(F2xe)] AR 11499 ~148510% 28214
=R 1|1 2| 3| 4|5]|6|7|8|9|10]11]12]:%
R T olo|l1]o0o]o]o| 2|0 4
KIEF olo|lo]lo|lOo]oOo]oO]|] 1]o0 1
p 735" BT 23
% /NI
HW OEA =
N - ER2
% KIBF
& LtHWNH =%
WOE HgA

x

EAXNEH




FI07E£ESFFRIFRBEFEFREAE HAERESE

ST E 7 R 20 B (H) B . KBLAVR—REITLA
[(F1xa] &M 8:45~10:27 (1EHE42%9)
=% 1 2 3 4 5 6 7 8 9 10 | 11 | 12§ &
ST 0 0 0 0 0 0 0
KIEBHK 1 5 0 0 3 [1x 10
iriod SLTE g 6MEa—IL KT —L
% HBX
H e =
V. N =
35 KIEBHK
% “FH, = EH
# oA = "T85
x 7R T N
(E2:4a] HEHEME 11:20~13:53 (2KM30%9) XFW35H
=4 112 |3 4|5| 6| 7| 8] 9|10]|11]|12] &
=] 1 3 1 2 9
sz B2 0 0 0 2 0 0 0 2
5354 =L g 7Ea—IL KRS —L4
% /MH. 5f
# JE = LA
= BN = EA2
354 3=
& EE. BE. MK
W R =
= - BE




FLTR2ESFFRFREFEREXR HEGBERBEE
SM7TE 7 B 20 B (A) ST T RIEH AR ES

[(E1Ra] HERM 8459 ~11K04% (2KMH19%)

=R%A 1|1 23| 4|56 ]| 7| 8|9 ]|10]|11|12] 5
KIEFg olof2]lo]ofO0]oO0]oO
AR ofo]l 2]lo0ofo]1]0]| o0 x
FI KIEFE iHE -

# ARD EEE

W OEER = EER

x - — EEK
B AI2

% = ER

W EH = -

x - - M

[(£2H&] BEEM 115199~ 14F18% (2F/H29%)

=% 1 2 3 4 5 6 7 8 9 10 (11 (12§ &
Nk 0 0 0 0 0 1 0 0
BENER 0 0 0 0 5 0 0 0 X
pi5e s & -
& =&, TA
w I = -
x - - EA2
354 BEmR

E:E
7t
=
[1 11




FI07E£ESFFRIFRBEFEFREAE HAERESE

AM7E 7 A 20 8 (8) AT A EERRE YT L

(£ 184]  HABM 88H44H 108485 2584

=% 1] 2] 3| 45 6] 78] 9]10]11]12]¢:
T oo o] 10|00 ]
BHRAAIR 0 2 2 0 3 0 | 1x 3
TR o)L e e

® —RE. w4

W R =

G =

BR  maAAR
B T e
w UE
b

[
=+
)2

[(EB2:E) HEEME 118299~13842%9 265/[6% 128469 ~12952% A& HMT

=% 1 2 3 4 5 6 7 8 9 10 | 11 | 12§ &
ERMX 0 0 0 0 0 0 0 0 2 2
JI[IF-—2S 0 0 0 0 0 1 0 0 0 1
S FEMIX ims

3t 2 TN VN T P VNI

W HHE = BH

w - EAR2
354 =2

#® Aol

W OB =

x - t




